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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� EDJDLPDQD� DQDOLVLV� SHUKLWXQJDQ�

KDUJD�SRNRN�SURGXNVL�SDGD�1D\OD�+LMDE�.RQYHNVL��%HQWXN�SHQHOLWLDQ�WXJDV�DNKLU�LQL�

GLODNXNDQ� GHQJDQ� FDUD� REVHUYDVL� \DLWX� SHQHOLWLDQ� \DQJ� GLODNXNDQ� ODQJVXQJ� NH�

SHUXVDKDDQ� WHUNDLW�� 3HQHOLWLDQ� LQL� GLODNVDQDNDQ� ODQJVXQJ NH� SHUXVDKDDQ� WHUNDLW��

3HQHOLWLDQ� LQL� GLODNVDQDNDQ� SDGD� 1D\OD� +LMDE� .RQYHNVL�� \DQJ� EHUDODPDW� GL� -DODQ�

$OWHUQDWLI�3DNDQ�6HQD\DQ�%HODNDQJ�60$�1���%DQXKDPSX��1DJDUL�6XQJDL�7DQDQJ��

.HFDPDWDQ�%DQXKDPSX�6XQJDL�3XDU�

'DUL�KDVLO�SHQHOLWLDQ�\DQJ�GLODNXNDQ�PHQXQMXNNDQ�EDKZD�SHUKLWXQJDQ�KDUJD�

SRNRN� SURGXNVL� \DQJ� GLODNXNDQ� ROHK� 1D\OD� +LMDE� .RQYHNVL� PHQJDODPL� NHVDODKDQ�

SDGD� SHUKLWXQJDQ� KDUJD� SRNRN� SURGXNVLQ\D�� \DLWX� 1D\OD� +LMDE� .RQYHNVL� WLGDN�

PHPSHUKLWXQJNDQ� NHVHOXUXKDQ� ELD\D� RYHUKHDG� SDEULNQ\D�� VHKLQJJD� SHQXOLV� KDUXV�

PHQJKLWXQJ� ELD\D� RYHUKHDG� SDEULNQ\D� DJDU� WHUKLQGDU� GDUL� NHVDODKDQ� GDODP�

PHQJKLWXQJ�KDUJD�SRNRN�SURGXNVL�WHUVHEXW�


